1.2) Multiplying and dividing complex numbers



Worked example Your turn

T .. T T .. T 5 51 T T
2(cos—+isin—) X 5(cos=+isinz 3 O isin 2t X — 4+ isin—
( 6 6) ( 3 3) (cos 1 + i sin 12) 4(005 1 + i sin 12)

12i




Worked example Your turn

T .. T T .. T 5 51 T T
2(cos—+isin—) X 5(cosz—isinz 3 O isin 2t X — —jsin—
( 6 6) ( 3 3) (cos 12 + L sin 12) 4(cos 12 L SIn 12)
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Worked example Your turn
T, . T
2 (COSg + lSlng) 3 (cosi—g + isini—g)
T T
5(cosz +isinm T,
( 3 3) 4(cos 12+lsm 12)
3 3V3.
—+—i
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Worked example Your turn

Express in the form x + iy Express in the form x + iy
3e12 X \/2¢e4 2¢6 x/3e3
2iV3
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Worked example

Your turn

Expressin the form x + iy
Tl
3e4

Tl

b6el2

S5e 4

m

V7e 2

Express in the form x + iy
Tl
V5e %
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Worked example Your turn
z=1-1 z = 5V3 —5i
Find Find
(a) || @) |z| 10
(b) arg(z) interms of
(b) arg(z) interms of T
6
T T T T
W:3(COSE+lSIHE) WZZ(COSZ_I_iSinZ)
Find Find 1
w w -
© © 5
w
(d) arg |~ @ argl? .
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Worked example Your turn
z =3+ 3i Z=2+2
Im(zw) =0 Im(zw) =0
|zw| = 2|z] |zw| = 3|z]

Use geometrical reasoning to find
the two possibilities for w, giving
your answers in exponential form

Use geometrical reasoning to find
the two possibilities for w, giving
your answers in exponential form

y[A) 37Tl

W1=3€ 4,W2=3€4



